20km

GM

Nal

23 4 16

16 00

( 45km

1 60K 16 8 39 1372
2 55K 16 8 57 1772
3 45K 16 9 58 26"
4 5ok 16 9 11 1072
5 45K 16 10 48 042
6 3K 16 11 11 07"
7 35K 16 11 23 062
10 20K 16 13 40 107
10 20K 16 13 28 107
A1 20K 16 13 29 127
1 20K 16 12 43 107
12 20K 16 12 50 037
13 20K 16 12 38 08"
14 3K 16 12 Q0 047
15 35K 16 11 37 05"
20 ok 16 12 23 037
21 30k 16 11 58 307
22 3K 16 12 09 007
23 35K 16 12 15 05"
31 30k 16 9 57 832
32 30k 16 10 13 25372
33 30k 16 10 30 1522
34 30k 16 11 27 447
36 A0k 16 9 35 297
37 50K 16 9 48 3272
38 K 16 13 09 097
39 16 10 22 082




GM

Nal

71 75k 4 16 8 22 05 NBC

*2

72 30K 4 16 13 43 06
72 30K 4 16 9 02 08 NBC

_ *2

73 35K 4 16 13 30 08
73 K 4 16 9 23 06 NBC

*2

74 35K 4 16 12 48 027
74 35K 4 16 9 50 037 NBC

*2

75 25K 4 16 11 36 04
75 25K 4 16 7 00 017 NBC
76 20k 4 16 11 08 027 NBC

*2

76 20k 4 16 10 40 0.0
77 75k 4 16 10 46 127 NBC

*2

79 30k 4 16 10 59 10.0

*2

_80_ 25K 4 16 11 52 037*
80 75k 4 16 8 00 04 NBC

*2

83 20k 4 16 11 15 438

*2

84 40km 4 16 10 29 0.2

*2

85 60km 4 16 6 00 0.6

*2

86 55Kk 4 16 6 00 0.9

*2

87 30km 4 16 6 00 1.0

*2

101 55K 4 16 9 19 12

*2

103 20km 4 16 12 32 04

*2

_104 25K 4 16 11 42 157

*2

105 20km 4 16 11 11 007

*2

106 30km 4 16 10 08 0.0

*2

107 25K 4 16 12 56 187

108 4 16 13 10 26"

30km
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